«34 .
1.
2.
3. o
1
( )
A.
(Ticl,)
B. : CO
CO
C. X
N NaCl
D.
99.9%
A Ticl,
Ticl;:  NaCl NaOH.CL,  H,:
o 'B
. ( 1)
1
2Hg0 —=2Hg +0, 1 2Ag,0 —=—4Ag +0, |
o Fe, 0, +3C0 ——2Fe +3C0,( )
H, WO, +3H, ==W +3H,0
3Mn0, +4Al——3Mn +2A1,0,
2ALO,( ) =——=4Al4+30, 1
MgCl, ( )=—=Mg+Cl, T
2NaCl( )=—=Na+Cl, 1
2
( ) o
A. Mg H, MgO
B. Al ALO,
C. Na:

2016 5

222200
D. Cu: CuO
Mg H,
Mg MgCl,
NaOH Na; CuO
Cu,0 Cuo B
(1) 1

= s [SE~S [ )Elﬁ (Sio:)
AT (ALO, S R FRHSO oo
Fes. Si0) Tk LAL(SO‘)s S ENaOH :

Fe:(S00)s| 33k NaAIOx
HLfig 18754
[l <=[ALOJ<EE[AIOH): <13 5 5 o,

1
2
i i ik
Mg(OH);IW—?{EI MeCE: - 6H:O—>MgCl]
) L fiy
2
(3) 3
AR
(CuFeS:)
3
3 ( CuFeS,)
4 (1)
. (2) (Al
Zn.Ag.Pt.Au ) ( CuSO,
) o .



2016 5
e paEn )
B e uke "1 AL
;ﬁT'<mCUZS~nFeS) FHEB
ki)
G é’;; Cw0. Cu)
fii ~—DIERIEL g '%/_\(15‘1
4
b.
c. Cu®*
d. Ag Pt Au
(1)
- (2)
a )
b
Cu*” c Ag. Pt Au
d o
(1) 3Cu,0 +2A1 ==Al,0, +6Cu (2) b.d
4 1
Fe,0,+ AL O,

5
(1) A b B
(2 NaOH
e a
CO,
Al O, s
I.
(3) ) 0.27 t
mol »
a )
o ( )
b b Al o b
( c) c

« 35

)==4A1+30,1 12 .
S 1.(1) ( ) AP+
3NH, « H,0 ==AI( OH) , | +3NH; (2) ALO,
+20H" ==2Al0, + H,0 Si0, + 20H =——

Si0:” +H,0 ALO, Sio,

IL(3)2AL,0,(  )=—=4Al1+30,1 3x10'

5 1825
50% ~70% Si0,+ Fe, 0,
Ca0.MgO.Na,O
98.2%
6 ;
¥ ik B %
(193 £k (3
EERe puidi;d
$BO LR

Al(OH) ; Fe( OH) ; Mg( OH) ,

pH(
0.01 mol/L) 4 2.3 10.4

pH(
<10 7% mol/L) 5:2 4.1 12.4
(1) @

A Si0,; NaOH pH
Fe'* @ o
@ Al? + Mg2 +
pH 5.2~10.4 .

(1) (2) Si0, NaOH (3)5.2

) =—=4Al +30, 1
( 12016 - 01 - 12)

<pH<10.4 (4)2AL,0,(



